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ALMOSTBRUTEFORCE(T[1..n],P[1..m]):

forse—1lton—m+1 Ol porst
oL 1 equal < TRUE )
i1 Ol 3= tp«aat‘o:
while equal and i <m (s L73

if T[s+i—1]# P[i]
equal « FALSE
else
i—i+1
if equal
return s
return NONE
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NUMBERSEARCH(T[1..n],P[1..m]):

- 10™ 1 mod g O a~timetic
p<0 Ot
0 94]90-9’(7 1
fori—1tom

p—10-p+P[i] mod g O(mn) tieme

fors—1lton—m+1
if p= t, =z Om?w P %iT{S:-..S‘Am'-i]

return s
tyr — 10+ (t,— o - T[s]) + T[s + m] mocla[
return NONE
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KARPRABIN(T[1..n],P[1..m]:
g «— a random prime number between 2 and [m21gm]
o « 10™ ! mod
p<0 ! M
t; <0
forie—1tom
p < (10-p mod q)+ P[i]mod g
t; < (10-t; mod q)+ T[i] mod q

forse—1ton—m+1
if p =1
ifP=T, {(brute-force O(m)-time comparison))
return s

return NONE

t;,1 < (10 (£, — (o - T[s] mod q) mod q) mod q) + T[s + m] mod q
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q <« an arbitrary prime number larger tha
b «— Ranpom(q)—1 {(uniform between § and q — 1))
o« b™ ! modgq
p<0
t; <0
forie—1tom
p <« (b-pmodq)+ P[i] modq
t; < (b-t;modq)+ T[i]mod q

CARTERWEGMANKARPRABIN(T[1..n],P[1.. m]:'gj M
=

fors—1lton—m+1
if p=f,
if P=T, ((brute-force O(m)-time comparison))
return s
top1 — (b . (ES - (0 - T[s] mod q) mod q) mod q) + T[s+ m]mod g

return NONE
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